ST6EE KRR VIV ABRFHERS

I i I B U 7 7 = e R
EEaN Iz B3t [X > 7 b7 = AHL S
PETHY7hT=2#Y
| SME6EITA3H (H)
% Bt P B IEB AR T =25
%
AT By s i 1 2 3 B % % iom g fir
1 BFH KR (KT @ @ 2/2 1
2 | b 287 |CRmERaERD) 1 2 0/2 3
3| R R (@57 2 @ 1/2 2
B 7 1 v 7 iR 4 5 6 7 B = % iom | E
4 WE SHE |(@HErT7) 2 3 0 0/3 4
5 | VER FEVS |(LIBERTA) 1 2 1/3 3
6 | WBIZ {5%C |(Amistad) @ 3/3 1
T ML FE |RLLEX) 1 2/3 2
C 7 m v iR 8 9 10 W % = I g fir
8 | H Soffi |WRLLSE) 3 @ 1/2 1 7-6 1
9 | JbE KT |[(Rih#) @ 3 1/2 0 -7 2
0 AR R (@Er77) 2 @ 1/2 -1 6-7 3
D 7 wm oy / iR 11 12 13 W % = I g fir
1| 2 FEE (KT @ 2/2 1
12| kB HE (R 0 1/2 2
13| /N FHHER |(@Xr5o) 1 3 0/2 3

SO ANE K
4D RA NEF

1—2,2—3,1—3
1-2,3-4,1-3,2-4,2-3.1-4




Al

C2

Bl

D2

Cl

A2

D1

B2

B K

e 1

el

A

e

[RAN

B
P

seth

Fn

i

KTPETY — D

@
CRTE e 22H%) -
2
(Amistad) 2
2
CRREsheER) ——
I NEE
(A DT —1
3
@ir57)  ——s
@
kT — @
@

(I RLHEE)

W

ZH FEE CRPFELSE)

KERHE ITITFMTEEE IR TNV AETFHEOH L 525

CRVETZE)



ST6EE KRR VIV ABRFHERS

I i I B UL 7 T = G
+ I B i1 X 7 7 = R

PRty 7 b7 =2

oA SF6EL1LH3H (H)
5 S B A = 2 8
Ol
AT v v 7o i B 21 22 23 B = 7= ) 6 {7
21| AR ER | CKFEETE) @ @ 2/2 1
22 | B #iFix |(WEFER) 0 1 0/2 3
23| EE ODE | (FEPEE) 2 ) 1/2 2
B 7 v v 7 g B 24 25 26 W5 = 7= FI! [[[=Riva
24| KM EBHLE | (KFEETHE @ @ 2/2 1
25| JIE HIE | (HFLPFER 0 2 0/2 3
26| ER e | OhEeHBER) 9 @ 1/2 2
SR AINE R 1—2.2—3,1—3
Al WA EHE (KTHTE) @
@
B2 ERE & (e T
(A EH CRTEPET3E)
Bl JkH EBZE (KFEELE) @
3
A2 AHE TE (TATER 5
& B A EH (KT EE)

KEPHE T MTEEE DAL TNV AEFHEOHGEL 525




